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@R\ SSC CPO/CHSL/CGL TIER Il 2023 1000 QUESTION SERIES

' |;_'"" : i’:|
"1 Find unit digit of (213)'6 x(522)20%(218)32

SBIS BT 3D AT BY,
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. ’__:__:"wh SSC CPO/CHSL/CGL TIER Il 2023 1000 QUESTION SERIES

2 Find the numbers of trailing zero’s 1000 !?

YA 1 HEAT JIA B 10001 ?

2,24
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- 3 The remainder ,when 17°7 + 29%7 s divided by
23 is ?
AYPA JATd B oF 1737 + 2937 BT 3 faurora
frarom 2
(1) 36

(3) 29
(41
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4of the number .Then find the number ?
WS | 21T d 98 ¥4 & 37 | 754 g1 STl g ol
ST [T B ?
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The number of integers in between 100 and 600 , which
5 are divisible by 4 and 6 both is, .
1003} 600 i quifepl o1 @, 5t 43R 69 fauTioa &,
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N,
6 1.27 in the form off is equal to

127 @1 qﬁg HAITA DY ?

1) 127100

(3) 7300
(4) M4
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' : SSC CPO/CHSL/CGL TIER Il 2023 1000 QUESTION SERIES :

Ram left %of his property to his widow and %

7 remainder to his daughter
.He gave the rest to his son who receive RS 6400,How

much was his original 1p._‘roperty worth ?

I A Y YuRIHT11/3 31 faear & fore ot fear
3R 3/5 TN P ,G@ﬁamﬁa%aﬁﬁlﬂwgr%,wh

. 64008 | 3D g& fraet <2 (1) 16000

(2) 15000
& oot

(4) 24000
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® Zinthe ascending order

)y )
6
6 5 .
-gm@mﬁ

4
Arrange =

'8

17)
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Ly
=g Find unit digit of [(251)°%+ (21)® - (106)'%0 + (705)*
| -164 +259 ]

TS 3P [Td PIOIY

https://t.me/MathbySuryaveersir



/4 ’F:“‘* SSC CPO/CHSL/CGL TIER Il 2023 1000 QUESTION SERIES

Find the sum of first 80 odd natural number |
0 is equal to- . :

maﬁé%ueﬁmﬁwwﬁwmaﬁm!ﬂﬂ
dRTdY 6-

(1) 8000
(2) 8400

i3§9400
0
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A number of friend decided to go on a picnic and planned to spend
Rs 108 on food ,three of then absent that is why remaining had to
contribute Rs 3 more find the number of friends initially ?

BS Sl A fUB e IR o &1 Bt frar 3k @< &4 & a1 9915
YIS U= 1083, Sifce= i< afaadl & AT 34 &1 aoig A 91 gl &1 3
S Sffafvad TG AT UST 4T? a1 = H i) 1 &I Jd S |

({1 12]
(2) 9
(3) 8
(4) 6
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| j_jf_‘__}ﬁh SSC CPO/CHSL/CGL TIER Il 2023
g When simplified the product (13)(1-3)(1- |
(1) 1/n

(3) 2(n-1)

n

2

(4)
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Sum of two number is 40 and their product is
1 375. What will be the sum of their reciprocals?

eI TEIS FTART 08 3R LY
S S o 75¢

(1)Brz5_|

(2) 1/40
(3) 75/8
(4) 75/4
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In an examination, a student scores 4 marks for every correct
answer and loses 1 mark for every wrong answer. A student

4 attemped and scored in all 200 questions and scored in all 200
marks. The number of questions, he answered correctly was —
TP WA H, TP BT TS el SR P 11T 43 AT S § 3R
TAP T S & 1T 1.3/ Wl a1 8 1 T O 1 I 20098 & SR
fad 3k 200 3iap aifdiar frd | el ot e Fra % P ST Ad 2

i1§82

(3) 68
(4) 60
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SSC CPO/CHSL/CGL TIER Il 2023 1000 QUESTION SERIES :

A man ate 100 grapes in 5 days. Each day, he ate 6 more
1 grapes than those he ate on the earlier day. How many
grapes did he eat on the first days?

D 3 5T H 1003i G T e &
B e S et e e o s P

SR W@TY?

(2) 12
(3) 54
(4) 76
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SSC CPO/CHSL/CGL TIER Il 2023 1000 QUESTION SERIES :

A certain number on being divided successively by 9,
1 11 and 13 leaves remainder 8, 9 and 8 respectively.
What are the remainders when the same number be
6 divided by reversing the order of divisors?

e =T 9 113X B3R A FEn & fuica g
IR U fAf3a 9= A9 8 931 8Eldl 2 | 519 UP &1 He&T
&I faUTSIP] & HH 1 Iac B fauford fparsars

AYHS TSI
(1)[10,1,6 ]

(2) 10, 6, 2
(3) 10,3, 3
(4)9, 3, 2
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What will be the remainder when (6767 + 67)
is divided béGB?

mnﬁla@ﬁwwﬁﬁﬁn?
2) 63

(i

7% +67)68ﬁ

(4) 67
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'~ "" What least number must be added to
1056, so that the sum is completely
8 divisible by 237
BId! A DI 98 DI Ul TSAT B 105%H SHIST ST
18, arfds a1 89 gt ave | faursa 812

(1) 2

(2) 3
(3) 18
(4) 21
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1000 QUESTION SERIES

How many 3 digit numbers are
completely divisible by 6 ?

9 %ﬁﬁmﬁmﬁaﬁmqﬁmﬁﬁw
?

:1: 149
0

(3) 151
(4) 166
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0 (12 + 22432+.......4102) = ?
0

(1) 330
(2) 345
3) 36
[OELE
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The total number of digits used in
2 numbering the pages of a book having 366
1 pagesis: P -~
BBYE! dTell [Xd & Y81 &1 H&IT H Ugad 3Pl
D P HST 6:

(1) 732
(2][990]
(3) 1198
(4) 1335
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The number of perfect square number
between 50 and 1000 is — .
2 031X 10009 9 T T B P W8 -
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' : SSC CPO/CHSL/CGL TIER Il 2023 1000 QUESTION SERIES ':

252 m of pant cloth and 141 m of shirt cloth are available in a cloth store. To
stich one pant and one shirt, 2 (1/2)m and 1(3/4) m of cloth are need

respectively. Then the approximate number of pants and shirts that can be
made out of it are —

G| H 2diex IR AR SUaRi g1 T Ue 3R
%%ﬁ%%ﬁq%ﬁgmﬁﬁ1m§£y§ﬁwwﬁ%l

Y 3R U B ST ST o1 59Y F118 o1

(1) (80, 100) (2) (100, 80)
(3) (100, 90) (4) (90, 80)
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